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The region bounded by the x-axis and the part of the graph of ¥ = cosx between x=—-§ and
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X = 15 separated into two regions by the line x = . If the area of the region for ——~<x<k
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What is the area of the region completely bounded by the curve y =—x?= x46 andthelme
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5. The area of the region enclosed by the graphs of y=x and y=x"-3x+3 is
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FEgIOn 1 the first quadrant ia enclosed by the Eaphs of v =™ v = 1, and the coordinate axes

If the region 1s votated about the y-axia, the volume of the solid that 15 generatey (4 represented by

which of the f‘wuomm. mteﬂ als?
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The absolute maximum value of SO =xt =35 +12 on the closed interval [=2.4] occurs ot x=
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The area of the shaded region in the figure above is represented by which of the following
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<}§ \> What 1s the average value of y for the part of the curve y w 3x—x% which is in the first quadiant?
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13. The volune of a cylindrical tin can with a top and a bottom is to be 16% cubie mches. If a
muumum amount of tin 15 to be used to construct the can, what nmst be the height, in inches, of the
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The area of the region enclosed by the curve y --—— + the x-axis, and the lines x =3 and x =4 is A \
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2 15. The region enclosed by the x-axis, the line x =3, and the curve » =X is rotated about UA "‘a-n' L‘\“ h * m ‘."\

2
S@() O’X x-axts. What is the volume of the solid generated? A ba r\

A OV\ C
Q (&) 3x ®) Wix @ 2 —_— & 85 }6\[— —>/'

16. Match the slope field with the differential equation: ::—i = -i
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1 : description

4= BTN + 24T b
AA_ gy -zorrrh'l' =0

Hr(r. =0
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(1 : separates variables f‘- = 2
2 ; antidenivatives h h
6 ) 1 : constant of integration . 4—_
" 1 : uses initial condition l/\ =
l:

solves far p
0/1if y isnot exponential ’ 2.
Note: max 3/6 [1-2-0-0-0] if no A ((o

constant of integration
Note: 0/6 ifno separation of vanables
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